TABULATION OF BIDS

Bid Schedule A

Project No.: PRA-BLRI 2M24

Project Name: REPAIR AND RESURFACE PARKWAY ENTRANCE RAMP HWY. NC 80 AT MP 344.1 AND BUCK

State: NC Opened at: Sterling, VA
County: MCDOWELL COUNTY By: Peggy Schaad
BLUE RIDGE PARKWAY Date: 06/15/11

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Peggy Schaad

Title: Contract Specialist Date: 6/17/11

Contract Awarded to: Bryant's Land and Development Industries, Inc.

Date: 7/13/11

Contractor	Bid Amount	Responsive
Bryant's Land and Development Indus	180,980.59	
159 Depot Street		
Burnsville, NC 28714		
Aldridge Brothers, Inc.	213,103.00	
307 Apple Tree Branch		
Robbinsville, NC 28771		
Engineer's Estimate	260,000.00	

Page 1

TABULATION OF BIDS

Date: 06/17/11

Bid Schedule A

Project No.: PRA-BLRI 2M24

Project Name: REPAIR AND RESURFACE PARKWAY ENTRANCE RAMP HWY. NC 80 AT MP 344.1 AND

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Bryai	nt's Land and Develo	pment Indus	ALL	18,060.79	18,060.79
Aldri	dge Brothers, Inc.			26,800.00	26,800.00
ENG	INEER'S ESTIMAT	E		20,867.00	20,867.00
15201-0000	LPSM	CONSTRUCTION SUR	RVEY AND STAKING		
Bryaı	nt's Land and Develo	pment Indus	ALL	6,890.00	6,890.00
	dge Brothers, Inc.			4,000.00	4,000.00
ENG	INEER'S ESTIMAT	E		4,600.00	4,600.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Bryai	nt's Land and Develo	pment Indus	ALL	6,890.00	6,890.00
Aldri	dge Brothers, Inc.			4,000.00	4,000.00
ENG	INEER'S ESTIMAT	E		4,600.00	4,600.00
15704-1000	SQYD	SOIL EROSION CONT	ROL, PLASTIC LINING	3	
Bryai	nt's Land and Develo	pment Indus	100	5.25	525.00
Aldri	dge Brothers, Inc.			2.00	200.00
ENG	INEER'S ESTIMAT	E		5.00	500.00
15705-0100	LNFT	SOIL EROSION CONT	ROL, SILT FENCE		
Bryai	nt's Land and Develo	pment Indus	300	3.25	975.00
Aldri	dge Brothers, Inc.			3.00	900.00
ENG	INEER'S ESTIMAT	E		5.00	1,500.00
15706-1000	EACH	SOIL EROSION CONT	ROL, INLET PROTECT	ΓΙΟΝ	
Bryai	nt's Land and Develo	pment Indus	1	270.00	270.00
Aldri	dge Brothers, Inc.			350.00	350.00
ENG	INEER'S ESTIMAT	E		380.00	380.00
20301-2400	EACH	REMOVAL OF SIGN			
Bryai	nt's Land and Develo	pment Indus	4	25.00	100.00
Aldri	dge Brothers, Inc.			100.00	400.00
ENG	INEER'S ESTIMAT	E		80.00	320.00
30302-1000	LNFT	DITCH RECONDITION	NING		
Bryai	nt's Land and Develo	pment Indus	110	10.50	1,155.00
	dge Brothers, Inc.			25.00	2,750.00
ENG	INEER'S ESTIMAT	E		10.00	1,100.00

TABULATION OF BIDS

Date: 06/17/11

Bid Schedule A

Project No.: PRA-BLRI 2M24

Project Name: REPAIR AND RESURFACE PARKWAY ENTRANCE RAMP HWY. NC 80 AT MP 344.1 AND

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
30501-00	000 TON	AGGREGATE-TOPSO	OIL COURSE		
	Bryant's Land and Developr	nent Indus	25	52.50	1,312.50
	Aldridge Brothers, Inc.			160.00	4,000.00
	ENGINEER'S ESTIMATE			60.00	1,500.00
40101-02	200 TON		ENT, 3/8-INCH NOMIN <3 MILLION ESAL , TY GHNESS		
	Bryant's Land and Developr	nent Indus	300	113.20	33,960.00
	Aldridge Brothers, Inc.			118.00	35,400.00
	ENGINEER'S ESTIMATE			150.00	45,000.00
40102-02	200 TON		ENT, 3/8-INCH NOMIN <3 MILLION ESAL, WI		G COURSE
	Bryant's Land and Developr	nent Indus	110	97.36	10,709.60
	Aldridge Brothers, Inc.			102.00	11,220.00
	ENGINEER'S ESTIMATE			150.00	16,500.00
41301-06	SQYD	ASPHALT PAVEMEN	IT MILLING, 2-INCH DI	ЕРТН	
	Bryant's Land and Developr	nent Indus	2,400	4.29	10,296.00
	Aldridge Brothers, Inc.			5.00	12,000.00
	ENGINEER'S ESTIMATE			20.00	48,000.00
42801-02	200 SQYD	FLEXIBLE PAVEMEN	NT, FULL DEPTH PATC	TH, TYPE 3	
	Bryant's Land and Developr	nent Indus	500	106.10	53,050.00
	Aldridge Brothers, Inc.			125.00	62,500.00
	ENGINEER'S ESTIMATE			100.00	50,000.00
60910-00	000 LNFT	RESET CURB			
	Bryant's Land and Developr	nent Indus	240	38.16	9,158.40
	Aldridge Brothers, Inc.			53.00	12,720.00
	ENGINEER'S ESTIMATE			60.00	14,400.00
62502-00	000 SQYD	TURF ESTABLISHMI	ENT		
	Bryant's Land and Developr	nent Indus	110	4.83	531.30
	Aldridge Brothers, Inc.			14.00	1,540.00
	ENGINEER'S ESTIMATE			10.00	1,100.00
63304-09	900 SQFT	SIGNS, ALUMINUM	PANELS, TYPE 3 SHEE	TING	
	Bryant's Land and Developr	nent Indus	20	22.26	445.20
	Aldridge Brothers, Inc.			50.00	1,000.00
	ENGINEER'S ESTIMATE			30.00	600.00

Page 3

TABULATION OF BIDS

Date: 06/17/11

Bid Schedule A

Project No.: PRA-BLRI 2M24

Project Name: REPAIR AND RESURFACE PARKWAY ENTRANCE RAMP HWY. NC 80 AT MP 344.1 AND

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63401-0900	LNFT	PAVEMENT MARKI	NGS, TYPE E, SOLID		
Brya	nt's Land and Developr	nent Indus	650	2.12	1,378.00
	idge Brothers, Inc.			1.70	1,105.00
ENC	SINEER'S ESTIMATE			1.30	845.00
63502-1300	EACH	TEMPORARY TRAFI	FIC CONTROL, DRUM		
•	nt's Land and Developr	nent Indus	35	53.00	1,855.00
	idge Brothers, Inc.			72.00	2,520.00
ENC	SINEER'S ESTIMATE			75.00	2,625.00
63502-1500	EACH	TEMPORARY TRAFI	FIC CONTROL, WARNII	NG LIGHT TYPE A	
•	nt's Land and Developr	nent Indus	35	46.88	1,640.80
Aldr	idge Brothers, Inc.			56.00	1,960.00
ENC	SINEER'S ESTIMATE			45.00	1,575.00
63502-1600	EACH	TEMPORARY TRAFI	FIC CONTROL, WARNII	NG LIGHT TYPE B	
Brya	nt's Land and Developr	nent Indus	40	90.10	3,604.00
Aldr	idge Brothers, Inc.			55.00	2,200.00
ENC	SINEER'S ESTIMATE			100.00	4,000.00
63503-0300	LNFT	TEMPORARY TRAF	FIC CONTROL, BARRIC	CADE TYPE 3	
Brya	nt's Land and Developr	nent Indus	280	42.00	11,760.00
Aldr	idge Brothers, Inc.			25.00	7,000.00
ENC	SINEER'S ESTIMATE			40.00	11,200.00
63504-1000	SQFT	TEMPORARY TRAF	FIC CONTROL, CONSTI	RUCTION SIGN	
Brya	nt's Land and Developr	nent Indus	250	18.50	4,625.00
Aldr	idge Brothers, Inc.			35.00	8,750.00
ENC	SINEER'S ESTIMATE			20.00	5,000.00
63506-0500	HOUR	TEMPORARY TRAF	FIC CONTROL, FLAGGI	ER	
Brya	nt's Land and Developr	nent Indus	120	14.90	1,788.00
Aldr	idge Brothers, Inc.			14.90	1,788.00
ENC	SINEER'S ESTIMATE			14.90	1,788.00
63701-0000	EACH	FIELD OFFICE			
Brya	nt's Land and Developr	nent Indus	1	1.00	1.00
Aldr	idge Brothers, Inc.			8,000.00	8,000.00
ENC	SINEER'S ESTIMATE			22,000.00	22,000.00

Date: 06/17/11

Bid Schedule A

Project No.: PRA-BLRI 2M24

Project Name: REPAIR AND RESURFACE PARKWAY ENTRANCE RAMP HWY. NC 80 AT MP 344.1 AND

BID TOTAL CHECK PASS

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Bryant's Land and Development Indus	180,980.59	180,980.59	
Aldridge Brothers, Inc.	213,103.00	213,103.00	

The apparent low bidder is 30 % below the engineer's estimate.

TABULATION OF BIDS

Bid Schedule A

Project No.: PRA-BLRI 2M24

Project Name: REPAIR AND RESURFACE PARKWAY ENTRANCE RAMP HWY. NC 80 AT MP 344.1 AND

BID ITEM CHECK PASS

Date: 06/17/11

Bidder Item No. Bidder's Computed Extension Extension

No extension errors in this Schedule.